IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:)
HAYES LEMMERZ INTERNATIONAL, II et al., Debtors.) Chapter 11 Case No. NC.,) 01-11490-MFW) (Jointly Administered))
REIMBURSEMENT OF EXPENSES FOR	G LLP FOR COMPENSATION AND R THE PERIOD FROM DECEMBER 6, 2001 DARY 28, 2002.
Name of Applicant:	KPMG LLP
Authorized to Provide Professional Services to:	HAYES LEMMERZ INTERNATIONAL, INC. et al.
Date of Retention:	FEBRUARY 14, 2002
Period for which compensation And reimbursement are sought:	DECEMBER 6, 2001 to FEBRUARY 28, 2002
Amount of Compensation sought As actual, reasonable, and necessary:	\$1,203,527
Amount of Expense Reimbursement sought as actual, reasonable, and necessary:	\$ <u>9,426</u>
This is an: X interim	final application
The total time expended for the preparation of the corresponding compensation to be requested on 87,400	his application is approximately 38 hours and the the next fee application will be approximately

Local Form 101 (Fee Application Cover Sheet)

		Requested		Approved	Approved	
Date Filed	Period Covered	Fees	Expenses	Fees	Expenses	
4/15/02	12/6/01-2/28/02	\$1,203,527	\$9,426	\$	\$	

Local Form 102 (Fee Application / Attachment B)

Name of Professional	Position of the	Hourly Billing Rate	Total Billed Hours	Total Compensation
Person	Applicant Number of Years in that Position.	(including changes)	Total Blucd flours	Total Compensation
	Prior Relevant			
	Experience. Year of Obtaining License to			
	Practice. Area of Expertise.			
Meter, Elizabeth	Assurance Partner Joined firm in 1982	\$555	285.5	\$158,452
Borin, Mark	Assurance Partner Joined firm in 1989	\$500	224.7	\$112,350
Wirtz, Digby	Assurance Partner Joined firm in 1967	\$555	54.6	\$30,303
Todd, Sharon	Assurance Partner, Joined KPMG in Canada in 1978	\$600	123.0	\$73,800
Karpen, Patrick	Tax Partner Joined firm in 1974	\$600	3.7	\$2,220
Kelsey, Larry	Assurance Partner Joined firm in 1991	\$600	8.0	\$4,800
Farris, Franklin	Assurance Partner, Joined firm in 1972	\$555	9.0	\$4,995
Davis, Mark	Assurance Sr. Manager, Joined firm in 1984	\$400	338.0	\$135,200
Ward, James	Assurance Manager, Joined firm in 1995	\$388	231.5	\$89,822
Rodabaugh, Michelle	Assurance Sr. Manager, Joined firm in 1991	\$388	21.5	\$8,342
Haugen, Don	Assurance Sr. Manager, Joined firm in 2001	\$400	27.0	\$10,800
Johnston, Troy	Assurance Sr. Manager, Joined firm in 1989	\$400	88.0	\$35,200
Sobczak, Ronald	Assurance Manager, Joined firm in 1996	\$388	20.5	\$7,954
Maxwell, Christine	Assurance Supervising Senior, Joined firm in 1997	\$225	27.0	\$6,075
Crawford, Tami	Assurance Supervising Senior, Joined firm in 1997	\$225	134.0	\$30,150
Baid, Manish	Assurance Senior, Joined firm in 2000	\$220	60.0	\$13,200
Carroll, Lisa	Assurance Senior Joined firm in 2000	\$225	421.7	\$94,882
Condon, Carrie	Assurance Senior, Joined firm in 2000	\$220	32.0	\$7,040
McManaman, Sharon	Assurance Senior, Joined firm in 1999	\$225	47.0	\$10,575
Dineen, Joseph	Assurance Senior, Joined firm in 1999	\$225	115.8	\$26,055
Woodiwiss, Jeffrey	Assurance Senior, Joined firm in 2001	\$225	112.5	\$25,312
Godbey, Ryan	Assurance Senior, Joined firm in 1999	\$225	55.0	\$12,375
Ikezawa, Sanac	Assurance Senior, Joined firm in 1998	\$225	58.0	\$13,050
Ngutshane, Boitumelo	Assurance Staff, Joined firm in 2000	\$195	107.7	\$21,001
Anderson, Sharona	Assurance Staff, Joined firm in 2000	\$195	8.0	\$1,560
Joffray, Jeff	Assurance Staff, Joined firm in 2001	\$195	142.6	\$27,807
Troester, John	Assurance Staff, Joined firm in 2000	\$195	287.6	\$56,082

Hucton, Paul	Assurance Staff, Joined firm in 2000	\$195	101.4	\$19,773
Luu, Rose	Assurance Staff, Joined firm in 2000	\$167	96.0	\$16,032
Wheelock, Tammy	Assurance Assistant, Joined firm in 2001	\$167	421.1	\$70,323
Abrams, Jason	Assurance Assistant, Joined firm in 2001	\$167	102.5	\$17,117
Keast, Laura	Assurance Assistant, Joined firm in 2001	\$167	18.0	\$3,006
Hofstra, Elizabeth	Assurance Assistant, Joined firm in 2001	\$167	85.4	\$14,261
Winters, Jodi	Assurance Assistant, Joined firm in 2001	\$167	44.8	\$7,481
Courtney, Joseph	Assurance Assistant, Joined firm in 2001	\$167	32.5	\$5,427
Ionetz, Adam	Assurance Assistant, Joined the firm in 2001	\$167	116.5	\$19,455
Steele, Charles	Assurance Intern, Joined firm in 2002	\$100	112.5	\$11,250
Grand Total:				\$1,203,527

Compensation by Project Category

Project Code	Project Category	Total Hours	Total Fees
10544446	Annual Financial Statement Audit	407.1	\$117,296
10544452	Quarterly Review Procedures	511,7	\$96,503
10544456	Plant Audit Procedures	1,362.9	\$287,662
10544462	Restatement Audit Work	1,876.9	\$695,461
10546798	Accounting Assistance	16.0	\$6,605
		4,174.6	\$1,203,527